
Supporting Information for 

A Versatile and Scalable Method for Producing  
N-functionalized Imidazoles 

 
 
 

Jason E. Bara* 
 

Department of Chemical & Biological Engineering  
University of Alabama, Tuscaloosa, AL USA 35487-0203 

 
*to whom correspondence should be addressed  

(email: jbara@eng.ua.edu) 
 
 
 
 
 
 
Contents 
 

• Spectroscopic data for compounds 1 – 21 
• 1H NMR Spectra images for compounds 1 – 21  

mailto:jbara@eng.ua.edu


Sodium imidazolate (NaIm) (1): 1H NMR (360 MHz, DMSO) δ 6.99 (s, 1H), 6.60 (d, J = 0.7 Hz, 2H).  13C 
NMR (126 MHz, DMSO) δ 143.70 (d, J = 6.8 Hz), 125.35 (d, J = 8.0 Hz).  ESI(-) MS:  Calculated as 67.1 for 
[C3H3N2]-; Found for [C3H3N2(C3H3N2Na)n]- (n=0, 1, 2, 3, 4): 67.2, 157.1, 247.1, 337.1, 427.1, 517.1. 

1-ethylimidazole (2):  1H NMR (500 MHz, CDCl3) δ 7.35 (s, 1H), 6.87 (dd, J = 58.1, 0.8 Hz, 2H), 3.86 (qd, J = 
7.3, 1.5 Hz, 2H), 1.32 (td, J = 7.4, 1.7 Hz, 3H). 
 
1-propylimidazole (3):  1H NMR (500 MHz, CDCl3) δ 7.37 (s, 1H), 6.96 (s, 1H), 6.82 (d, J = 1.0 Hz, 1H), 3.84 
– 3.77 (m, 2H), 1.76 – 1.67 (m, 2H), 0.87 – 0.80 (m, 3H). 
 
1-butylimidazole (4): 1H NMR (500 MHz, CDCl3) δ 7.43 (s, 1H), 6.95 (dd, J = 73.0, 0.9 Hz, 2H), 3.90 (t, J = 
7.1 Hz, 2H), 1.73 (dt, J = 14.9, 7.3 Hz, 2H), 1.49 – 1.11 (m, 2H), 0.91 (t, J = 7.4 Hz, 3H). 
 
1-pentylimidazole (5): 1H NMR (500 MHz, CDCl3) δ 7.45 (s, 1H), 7.05 (s, 1H), 6.90 (s, 1H), 3.91 (t, J = 7.2 
Hz, 2H), 1.85 – 1.69 (m, 2H), 1.49 – 1.16 (m, 4H), 0.89 (t, J = 7.2 Hz, 3H). 
 
1-hexylimidazole (6):  1H NMR (500 MHz, CDCl3) δ 7.43 (s, 1H), 7.12 – 6.79 (m, 2H), 4.07 – 3.70 (m, 2H), 
1.83 – 1.63 (m, 2H), 1.27 (d, J = 2.9 Hz, 6H), 0.85 (dd, J = 6.8, 5.4 Hz, 3H). 
 
1-octylimidazole (7): 1H NMR (500 MHz, CDCl3) δ 7.44 (s, 1H), 7.04 (d, J = 0.8 Hz, 1H), 6.89 (d, J = 0.9 Hz, 
1H), 3.90 (t, J = 7.2 Hz, 2H), 1.75 (p, J = 7.0 Hz, 2H), 1.26 (dd, J = 12.2, 5.6 Hz, 10H), 0.86 (t, J = 6.7 Hz, 3H). 
 
1-decylimidazole (8): 1H NMR (500 MHz, CDCl3) δ 7.43 (s, 1H), 6.92 (dd, J = 39.0, 37.9 Hz, 2H), 4.09 – 3.71 
(m, 2H), 1.83 – 1.64 (m, 2H), 1.46 – 1.04 (m, 14H), 0.86 (td, J = 6.9, 1.3 Hz, 3H). 
 
1-dodecylimidazole (9): 1H NMR (500 MHz, CDCl3) δ 7.43 (s, 1H), 6.95 (dd, J = 75.8, 0.7 Hz, 2H), 3.89 (t, J 
= 7.2 Hz, 2H), 1.74 (p, J = 7.0 Hz, 2H), 1.45 – 1.04 (m, 20H), 0.86 (t, J = 6.8 Hz, 3H). 
 
1-tetradecylimidazole (10): 1H NMR (500 MHz, CDCl3) δ 7.46 (s, 1H), 7.06 (s, 1H), 6.90 (s, 1H), 3.92 (t, J = 
7.2 Hz, 2H), 1.85 – 1.69 (m, 2H), 1.44 – 1.07 (m, 24H), 0.88 (t, J = 6.9 Hz, 3H). 
 
1-(2-methoxyethyl)imidazole (11):  1H NMR (500 MHz, CDCl3) δ 7.44 (s, 1H), 7.09 – 6.74 (m, 2H), 4.02 (t, J 
= 5.2 Hz, 2H), 3.56 (t, J = 5.2 Hz, 2H), 3.27 (d, J = 0.9 Hz, 3H). 
 
1-[2-(2-methoxyethoxy)ethyl]imidazole (12): 1H NMR (500 MHz, CDCl3) δ 7.51 (s, 1H), 6.99 (d, J = 26.3 
Hz, 2H), 4.09 (t, J = 5.3 Hz, 2H), 3.71 (t, J = 5.3 Hz, 2H), 3.55 (dd, J = 5.5, 3.1 Hz, 2H), 3.51 – 3.46 (m, 2H), 
3.34 (s, 3H). 
 
1-[2-[2-(2-methoxyethoxy)ethoxy]ethyl]imidazole (13): 1H NMR (500 MHz, CDCl3) δ 7.49 (s, 1H), 6.97 (d, J 
= 18.7 Hz, 2H), 4.06 (t, J = 5.2 Hz, 2H), 3.70 (t, J = 5.2 Hz, 2H), 3.63 – 3.53 (m, 6H), 3.50 (dd, J = 5.8, 3.4 Hz, 
2H), 3.33 (d, J = 5.2 Hz, 3H). 
 
1-benzylimidazole (14): 1H NMR (500 MHz, CDCl3) δ 7.55 (s, 1H), 7.42 – 7.29 (m, 3H), 7.16 (dd, J = 7.6, 1.0 
Hz, 2H), 7.10 (s, 1H), 6.91 (s, 1H), 5.12 (s, 2H). 
 
1,1'-(1,4-butanediyl)bis(imidazole)  (15): 1H NMR (500 MHz, CDCl3) δ 7.46 (s, 2H), 7.09 (s, 2H), 6.88 (d, J = 
1.0 Hz, 2H), 3.96 (d, J = 6.1 Hz, 4H), 1.86 – 1.71 (m, 4H). 
 



1,1'-(1,6-hexanediyl)bis(imidazole) (16): 1H NMR (500 MHz, CDCl3) δ 7.39 (s, 2H), 6.93 (d, J = 83.8 Hz, 4H), 
3.87 (t, J = 7.0 Hz, 4H), 1.93 – 1.50 (m, 4H), 1.44 – 1.07 (m, 4H). 
 
1,1'-(1,8-octanediyl)bis(imidazole) (17): 1H NMR (500 MHz, CDCl3) δ 7.44 (s, 2H), 7.05 (s, 2H), 6.89 (s, 
2H), 3.91 (t, J = 7.1 Hz, 4H), 1.83 – 1.65 (m, 4H), 1.37 – 1.15 (m, 8H). 
 
1,1'-(1,10-decanediyl)bis(imidazole) (18):  1H NMR (500 MHz, CDCl3) δ 7.43 (s, 2H), 6.92 (dd, J = 39.3, 38.1 
Hz, 4H), 4.09 – 3.71 (m, 4H), 1.84 – 1.65 (m, 4H), 1.25 (dd, J = 9.8, 5.1 Hz, 12H). 
 
1,1'-(oxydi-2,1-ethanediyl)bis(imidazole) (19): 1H NMR (500 MHz, CDCl3) δ 7.44 (s, 2H), 7.03 (s, 2H), 6.86 
(s, 2H), 4.05 (t, J = 5.1 Hz, 4H), 3.62 (t, J = 5.1 Hz, 4H). 
 
1,1'-[1,2-ethanediylbis(oxy-2,1-ethanediyl)]bis(imidazole) (20):  1H NMR (500 MHz, CDCl3) δ 7.51 (s, 2H), 
6.99 (d, J = 41.8 Hz, 4H), 4.07 (t, J = 5.1 Hz, 4H), 3.67 (t, J = 5.1 Hz, 4H), 3.52 (s, 4H). 
 
1,1'-[oxybis(2,1-ethanediyloxy-2,1-ethanediyl)]bis(imidazole) (21): 1H NMR (500 MHz, CDCl3) δ 7.49 (s, 
2H), 7.09 – 6.78 (m, 4H), 4.06 (t, J = 5.2 Hz, 4H), 3.69 (dd, J = 7.2, 3.1 Hz, 4H), 3.53 (d, J = 1.3 Hz, 8H). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



-5-4-3-2-10123456789101112131415
f1 (ppm)

-500

0

500

1000

1500

2000

2500

3000

3500

4000

4500

5000

5500

6000

6500

2.
00

0.
97

6.
60

6.
60

6.
99

DMSO

TMS



-4-3-2-1012345678910111213141516
f1 (ppm)

0

500

1000

1500

2000

2500

3000

3500

4000

3.
00

1.
98

1.
92

0.
96

1.
30

1.
31

1.
32

1.
32

1.
33

1.
33

3.
84

3.
84

3.
85

3.
86

3.
87

3.
87

3.
88

3.
89

6.
81

6.
81

6.
92

6.
92

7.
35



-4-3-2-1012345678910111213141516
f1 (ppm)

-200

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200

2400

2600

2800

3.
00

1.
99

1.
98

1.
89

0.
96

0.
82

0.
82

0.
82

0.
84

0.
84

0.
84

0.
85

0.
85

0.
85

1.
69

1.
70

1.
71

1.
72

3.
79

3.
80

3.
81

3.
82

3.
82

6.
82

6.
82

6.
96

7.
37



-4-3-2-1012345678910111213141516
f1 (ppm)

-200

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200

2400

2600

2800

3000

3200

3400

3600

3.
00

2.
00

1.
99

1.
98

1.
90

0.
93

0.
90

0.
91

0.
93

1.
29

1.
70

1.
72

1.
73

1.
75

1.
76

3.
89

3.
90

3.
92

6.
87

6.
88

7.
02

7.
02

7.
43



-4-3-2-1012345678910111213141516
f1 (ppm)

-200

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200

2400

2600

2800

3000

3.
00

4.
00

1.
97

1.
98

0.
96

0.
94

0.
94

0.
88

0.
89

0.
91

1.
33

1.
74

1.
76

1.
77

1.
79

3.
90

3.
91

3.
93

6.
90

7.
05

7.
45



-4-3-2-1012345678910111213141516
f1 (ppm)

-500

0

500

1000

1500

2000

2500

3000

3500

4000

4500

5000

5500

6000

3.
00

6.
00

1.
96

1.
97

1.
87

0.
91

0.
84

0.
85

0.
86

0.
87

1.
27

1.
73

1.
74

1.
75

3.
88

3.
88

3.
89

3.
90

3.
91

6.
87

6.
88

6.
88

7.
02

7.
02

7.
43



-4-3-2-1012345678910111213141516
f1 (ppm)

-200

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200

2400

2600

2800

3000

3.
01

10
.0

0

1.
97

1.
99

0.
96

0.
93

0.
92

0.
85

0.
87

0.
88

1.
24

1.
73

1.
74

1.
75

1.
77

3.
89

3.
90

3.
92

6.
88

6.
89

7.
04

7.
04

7.
44



-4-3-2-1012345678910111213141516
f1 (ppm)

0

500

1000

1500

2000

2500

3000

3500

4000

2.
98

14
.0

0

1.
95

1.
96

1.
85

0.
91

0.
85

0.
85

0.
86

0.
86

0.
87

0.
88

1.
24

1.
73

1.
75

1.
76

1.
77

3.
88

3.
88

3.
90

3.
91

3.
91

6.
88

6.
88

6.
88

7.
03

7.
43



-4-3-2-1012345678910111213141516
f1 (ppm)

-500

0

500

1000

1500

2000

2500

3000

3500

4000

4500

5000

5500

6000

6500

7000

7500

3.
29

20
.0

0

2.
16

2.
17

2.
06

1.
02

0.
85

0.
86

0.
87

1.
23

1.
72

1.
73

1.
74

1.
76

3.
88

3.
89

3.
91

6.
88

6.
88

7.
03

7.
03

7.
43



-4-3-2-1012345678910111213141516
f1 (ppm)

0

1000

2000

3000

4000

5000

6000

7000

8000

9000

3.
21

24
.0

0

2.
12

2.
11

1.
00

0.
99

0.
99

0.
87

0.
88

0.
90

1.
26

1.
74

1.
76

1.
77

1.
78

3.
91

3.
92

3.
93

6.
90

7.
06

7.
46



-4-3-2-1012345678910111213141516
f1 (ppm)

-500

0

500

1000

1500

2000

2500

3000

3500

4000

4500

5000

5500

6000

6500

7000

3.
00

2.
02

2.
03

1.
94

0.
96

3.
27

3.
27

3.
55

4.
01

4.
02

4.
03

6.
91

6.
91

6.
97

7.
44



-4-3-2-1012345678910111213141516
f1 (ppm)

-500

0

500

1000

1500

2000

2500

3000

3500

4000

4500

5000

5500

6000

6500

2.
96

4.
00

2.
02

2.
00

1.
91

0.
94

3.
34

3.
47

3.
48

3.
48

3.
49

3.
49

3.
54

3.
54

3.
55

3.
56

3.
70

3.
71

3.
72

4.
08

4.
09

4.
10

6.
96

7.
01

7.
51



-4-3-2-1012345678910111213141516
f1 (ppm)

-400

-200

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200

2400

2600

2800

3000

3200

3400

3600

3800

4000

4200

2.
98

8.
00

2.
02

1.
96

1.
89

0.
94

3.
33

3.
34

3.
49

3.
49

3.
50

3.
51

3.
55

3.
55

3.
56

3.
56

3.
57

3.
58

3.
58

3.
59

3.
69

3.
70

3.
71

4.
05

4.
06

4.
07

6.
95

6.
99

7.
49



-4-3-2-1012345678910111213141516
f1 (ppm)

-500

0

500

1000

1500

2000

2500

3000

3500

4000

4500

5000

5500

6000

6500

7000

7500

8000

8500

9000

2.
00

0.
95

0.
97

1.
88

2.
85

0.
90

5.
12

6.
91

7.
10

7.
15

7.
15

7.
16

7.
17

7.
31

7.
32

7.
32

7.
33

7.
33

7.
34

7.
34

7.
35

7.
36

7.
36

7.
37

7.
37

7.
38

7.
55



-4-3-2-1012345678910111213141516
f1 (ppm)

-200

-100

0

100

200

300

400

500

600

700

800

900

1000

1100

1200

1300

1400

1500

1600

1700

1800

1900

2000

2100

2200

2300

2400

4.
00

3.
89

1.
86

1.
84

1.
81

1.
77

1.
78

1.
78

1.
79

1.
79

1.
80

3.
95

3.
97

6.
88

6.
88

7.
09

7.
46



-4-3-2-1012345678910111213141516
f1 (ppm)

-100

0

100

200

300

400

500

600

700

800

900

1000

1100

1200

1300

1400

1500

1600

1700

1800

1900

2000

4.
00

3.
91

3.
91

3.
74

1.
85

1.
22

1.
24

1.
25

1.
25

1.
26

1.
27

1.
70

1.
72

1.
73

3.
86

3.
87

3.
88

6.
84

7.
01

7.
39



-4-3-2-1012345678910111213141516
f1 (ppm)

0

500

1000

1500

2000

2500

3000

3500

4000

4500

8.
00

3.
90

3.
95

1.
87

1.
85

1.
81

1.
24

1.
24

1.
26

1.
28

1.
72

1.
73

1.
75

1.
76

1.
78

3.
89

3.
91

3.
92

6.
89

7.
05

7.
44



-4-3-2-1012345678910111213141516
f1 (ppm)

-200

-100

0

100

200

300

400

500

600

700

800

900

1000

1100

1200

1300

1400

1500

1600

1700

1800

1900

2000

2100

2200

2300

2400

2500

12
.0

0

3.
91

3.
93

3.
68

1.
82

1.
24

1.
25

1.
26

1.
27

1.
72

1.
73

1.
74

1.
76

1.
77

3.
89

3.
90

3.
91

3.
92

6.
88

6.
88

6.
88

7.
03

7.
43



-4-3-2-1012345678910111213141516
f1 (ppm)

-200

-100

0

100

200

300

400

500

600

700

800

900

1000

1100

1200

1300

1400

1500

1600

1700

1800

1900

2000

2100

2200

2300

2400

2500

4.
00

3.
95

1.
86

1.
86

1.
83

3.
61

3.
62

3.
63

4.
04

4.
05

4.
06

6.
86

7.
03

7.
44



-4-3-2-1012345678910111213141516
f1 (ppm)

-500

0

500

1000

1500

2000

2500

3000

3500

4000

4500

5000

5500

6000

6500

8.
00

3.
91

3.
74

1.
84

3.
52

3.
66

3.
67

3.
68

4.
06

4.
07

4.
08

6.
95

7.
04

7.
51



-4-3-2-1012345678910111213141516
f1 (ppm)

-500

0

500

1000

1500

2000

2500

3000

3500

4000

4500

5000

5500

6000

6500

7000

7500

8000

8500

8.
00

3.
91

3.
95

3.
71

1.
84


	Supporting Information Cover Page
	1H NMR Data for Supporting Info
	Supporting Information - Bara - Imidazoles
	Supporting Information Cover Page
	NMR Spectra Combined
	01 - Sodium Imidazolate
	02 - 1-ethylimidazole
	03 - 1-propylimidazole
	04 - 1-butylimidazole
	05 - 1-pentylimidazole
	06 - 1-hexylimidazole
	07 - 1-octylimidazole
	08 - 1-decylimidazole
	09 - 1-dodecylimidazole
	10 - 1-tetradecylimidazole
	11 - 1-PEG1-imidazole
	12 - 1-PEG2-imidazole
	13 - 1-PEG3-imidazole
	14 - 1-benzylimidazole
	15 - Butyl(bis)imidazole
	16 - Hexyl(bis)imidazole
	17 - Octyl(bis)imidazole
	18 - Decyl(bis)imidazole
	19 - PEG1(bis)imidazole
	20 - PEG2(bis)imidazole
	21 - PEG3 (bis)imidazole
	22 - PEG1 monomethylether monotosylate
	23 - PEG2 monomethylether monotosylate
	24 - PEG3 monomethylether monotosylate
	25 - PEG1 ditosylate
	26 - PEG2 ditosylate
	27 - PEG3 ditosylate



